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QUESTION 1

Which three interface validations cause the Advance Shipment Notifications (ASN) to fail when uploading to WMS
Cloud? (Choose three.) 

A. A Purchase Order that is referenced on the ASN doesn\\'t exist in WMS Cloud. 

B. ASN Qty and Purchase Qty do not match in WMS Cloud. 

C. ASN data is past the shipping date. 

D. Purchase Detail line and ASN Detail line do not match in WMS Cloud. 

E. ASN file has invalid data format. 

Correct Answer: BDE 

 

QUESTION 2

Which three configurations are required to sort the SKU A and B while receiving? (Choose three.) 

A. An IB Shipment Type should be created to receive Purchase Order with sort SKUs. 

B. Use Custom Field in Vendor UI to map the item that needs to be sorted. 

C. Break Rule with Criteria needs to be set for the Sorting Rule. 

D. Receive Station Location for Sorting should be created and mapped with the Sorting Rule. 

E. Putaway Type should be configured for the SKU. 

F. The Locations Size type should be defined for each Receive Station Location. 

Correct Answer: ABE 

 

QUESTION 3

While working on the configuration of your client, you uncover that the ASNs will always have the correct serial number
information interfaced upfront and your client trusts the ASN information. Your client also needs the serial number
information to get into WMS Cloud when the items are received from POs. Which three actions do you need to take,
assuming that item A is serial-tracked? (Choose three.) 

A. Set item A\\'s require serial number parameter to "Required, validate and allow user override". 

B. Create the IB Container barcode type. 

C. Create the Serial Number barcode type. 

D. Set the company parameter SERIAL_NUMBER_TRACKING_LEVEL TO 2. 

E. Set item A\\'s require serial number parameter to "Required, don\\'t Validate". 
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Correct Answer: ABD 

 

QUESTION 4

Your client wants to create an Advanced Shipment Notification (ASN) automatically after a Purchase Order 

(PO) is created in the system. 

What step should they perform? 

A. The user needs to go to the Purchase Order Screen UI and select the "Create IB Shipment" check box 

B. Update the Company Parameter CREATE_ASN_FOR_EACH_PO to Yes on the Company Parameter UI screen 

C. When interfacing the PO, the "create_asn" check box needs to be selected every time 

D. When interfacing the shipment, the PO number should be specified 

Correct Answer: B 

 

QUESTION 5

Which statement is true regarding Replenishment Rules? 

A. Replenishment Rules created at Parent company view can be edited at Child company view. 

B. Replenishment Rules are used for defining Wave Template. 

C. Replenishment Rules are used for Inventory movement between two warehouses. 

D. Replenishment Rules are only editable at the company level in which it was created. 

Correct Answer: B 

 

QUESTION 6

A Purchase order created in ERP is downloaded to WMS Cloud. Which two statements are correct related to the
Purchase order update? (Choose two.) 

A. UPDATE is sent in the Header and CREATE in the Detail for an existing Purchase Order line. The application will
add up the corresponding "Order Quantity". 

B. The Purchase order header can be updated by sending an UPDATE action code when the status is in Created and
Received. 

C. Purchase order can be re-created by sending the RE-CREATE action code when the status is In-Receiving. 

D. UPDATE is sent both in the Header and Detail for an existing line. The application will just update the record at
Details. 

E. The RE-CREATE action code if sent for an existing PO, the same PO will be deleted and re-created with the new

Latest 1Z0-1045 Dumps | 1Z0-1045 PDF Dumps | 1Z0-1045 Braindumps                                3 / 7

https://www.certbus.com/1z0-1045.html
https://www.certbus.com/1z0-1045.html
https://www.certbus.com/1z0-1045.html


https://www.certbus.com/1z0-1045.html
2024 Latest certbus 1Z0-1045 PDF and VCE dumps Download

details. 

Correct Answer: BD 

 

 

QUESTION 7

Your customer wants to use Advance Shipment Notification (ASN) created in WMS Cloud System for receiving without
RF gun and expects ASN to be verified. What are the two steps to complete the ASN receiving and verification
transaction? (Choose two.) 

A. Create a Blind IB plate number and palletize after receiving 

B. Create a Blind IB plate number and cartonize before receiving 

C. Assign a dock door to IB shipment 

D. Create an ASN from the IB license plate screen 

E. Verify the IB shipment 

Correct Answer: AC 

 

QUESTION 8

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.) 

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order. 

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location. 

C. A received IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time. 

D. A batch number in the Batch Management UI has to be always linked to an expiry date. 

Correct Answer: AD  

 

QUESTION 9

You are monitoring the progress of the picking wave and notice that a rush order needs to be picked 

immediately. 

Which two steps should you take to complete the Picking Tasks as soon as possible? (Choose two.) 

A. Select the tasks in the Tasks UI, and confirm the pick in the UI. 
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B. Select the tasks in the Tasks UI, select Cancel Task, and re-run the wave. 

C. Manually take the inventory from the location to the shipping area. 

D. Select the tasks and in the Tasks UI, select Change Task Priority to give the task a higher priority. 

E. Select the tasks in the Tasks UI, select Assign user, and let the picker know that he/she is to select the tasks for
immediate pick. 

Correct Answer: AE 

 

 

QUESTION 10

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.) 

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility. 

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility. 

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility. 

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility. 

E. When the same serial number, which is already present on the same Sku in a different facility, is scanned. 

Correct Answer: ABE 

 

 

QUESTION 11

A warehouse manager needs to view additional information not available in the existing Picking 

applications. 

Identify two ways to fulfill this requirement. (Choose two.) 

A. Create a custom WMS BI Cloud showing the information. 

B. Access data through SQL. 

C. Modify the base application to display additional information. 

D. Use a base WMS BI Cloud showing the needed information. 

Correct Answer: AC 
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QUESTION 12

Identify two scenarios in which the user can select the "Release Pick Info" option in the Wave Inquiry UI to generate the
wave information for MHE systems. (Choose two.) 

A. after wave picking has started for all allocations (alloc_qty>packed_qty, but packed_qty>0) 

B. if all the lines are picked (if allocations packed qty=alloc qty) for all the allocations 

C. after wave picking has started, but some allocations have not been picked yet (allocations having packed_qty=0) 

D. packed_qty not evaluated when sending Wave Pick Info 

E. if picking has not started for the wave 

Correct Answer: AC 

 

QUESTION 13

You want to wave three orders. Two orders had the same route number in the order header, and the other order didn\\'t
have a route number. You want to make sure the orders are assigned to the same load. What should you do or check? 

A. Change company parameter WAVE_ASSIGN_LOAD to One load per wave 

B. Change the Task selection criteria to be configured to assign by load. 

C. Add another route number to the third order. As long as they are waved together, they will be assigned to the same
load. 

D. If they all have the same "Ship to Name" and "Ship to Address 1", they will be assigned to the same load. 

Correct Answer: A 

 

QUESTION 14

Which two configurations are necessary to use a pick-to-cart functionality? (Choose two.) 

A. Configure label types for cart capacity 

B. Configure the Print Task setting 

C. Define the OBLPN Types 

D. Define the Cubing Rule 

E. Add the Pick Cart UI to the Receiving personnel\\'s menu 

Correct Answer: CE 
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QUESTION 15

You are configuring the WMS Cloud to have multiple facilities and, as an added measure of control, you 

want to easily identity the facility by looking at the barcode printed on the outbound carton. 

Identify two valid configurations that are available in the Sequence Counter UI that you can use for the 

OBLPN. (Choose two.) 

A. You can set up the count increment in Facility 1 to increase by 1, the count increment in Facility 2 to increment by 2,
and so on. 

B. You can set up the sequence counter OBLPN to "Append Facility Code to Prefix". 

C. You can specify different counts for the different facilitates within the Sequence Counter. 

D. You can configure the sequence length for this facility to be different from the other facilities. 

E. You can specify the "Color Code" in the Sequence Counter. 

Correct Answer: BC 
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